PSSPV

ERAN

HDIRNEBESHBIRIC DT

Lo

N

BB ELEE  ZAED HTRY
Eﬁ% =y nim ﬁﬁ?/llﬂal’ I -

FLoic >a4br2vn’—x—m~( [a+JB)

A3 FEEMREP S, B EHbETRD

MERHIZOPEWIERED R IAFEZLTWS
3 BIzZEL OISR L,

M €A A(e b) (>0, b>0) &V x#h,
YyEIDIEDE S L 22 P, Q TRb 3 EHE%:
3 L EROEDOB/MERRD &,
(1) OP-0Q (2) OP+0Q

) JOFFOT—Pa

ZLC, BRABELELRFFOTTCH»T L&,
BMER & BB PQ OB, ThEh
(1) Wbk (2) B @) TATRAYR
WRBIERIABNTYS,

K, L~/ VAERVT), Oh—RtTx 3
Zk, BEEPHERDBENEET S I EERT
ZEDHETH S,

2] EmE=ERTIC & DS
FRcBWT £QPO=4, tanf=¢ LB L E,

5T OP+0Q 1 t=,/-0- or s
(Va+Vb )
3) OP2+OQZ:(a+ﬁ)Z+(b+az)2

Zab b

+2abt +d*t?

=qa +a( b b+at’)+b( Zz+at+at>+bz

gaZ-ma{/—z—xTXaHgbi/szx at Xat +b?

=a*+3abb8+3ab08+ 0

=(af+5%)°

b 1

o JOPFOQ 1 1=(L) or s
(F+o9)E
—fig{t

TEHEEORZ MV x=(x1, x2) ZHLT

oPatly Y llxllo=(2] -+ 1221
an Q EBL, p2l DEE L/ VA ZIREN, BHC
=a+~1;. p=1 o & ||PQli=0P+0Q
A
0Q=b-+ atand b p=2 O &= ||PQlL.=(0P*+0QYF &% Euclid
bt P BEHTH B,
LEFLHTES, O a NP Iwm1 EEA b) (>0 b>0) FHEY x
(1) OP-0Q

2
=(a+—?)(b+ at)y=ab+ azt-i--bt—+ ab

2
22ab+2,/ &t X—bz; =dab

ft>T OP-0Q 1& t=% D ¥ = 35/M dab

) OP+OQ=a+~I;~+b+at

20

W, yBOEDESEZNENP, Q TRbSE
BRI, p<—1, p>0 OHH

| PQIlo=(0P? +0Q?)p = (q#sr -+ b751) 5" vevoee
—1<p<0 OBE

| PQIl,= (a7%r+ bo¥r) 5"

wmay 5, HEmLE =L orscha,




SRR
QI =(a+2) + 5+ at)y=(at+6(145)

=7(¢)
1 KN

F(B)=aplat+ b)""(l +%>— ptP W at+ b)Y

= p(at+b)""(a+t—‘§,— wrp )

_ Hat+ b)”“(at”‘— b)

f((%)ﬁHa eyl i (57%)

bP-H +
bP+1

= bp+1(ap+1 +bp+1)”><

:(ap%+ 1;7‘%1')”“
_1
p<—1, p>0 OBH (%)"“za Bl

0] e @

Vi -0 | +
f N A 2

& o TOWRILT 5.
—1<p<0 DBE

tlo] | e

A+ Tol -
f 7 | @) ~
& o T@OVHILT 3.

4] Sk
EH1OOQRE VROEESEE S, ELWVZ
LOFETE B,

ETHE2 p<—1 /i p>0, k>0,

AT bFT=F Bl TEOR a, bIZE VD
Ala, b) #ED S, A 2B xl, yHOED
MLz ZhP, Q TRbEMEI L s,
IIPQIl, &Nz T 2 EREE PQ OEEHIE
X+ yPT=k THB.,

EE

p=1 Dt ||PQ[i=0P+0Q T h a#E#
Bt +yE=k 2k %,

p=2 0% ||PQl.=/OP+0Q Th ", &
BT AFOA ¥ 2 +yi=k CThHB.

=1, k=1 Dt &

=2 k=1 DL &
¥

—-
3

p=—2 05 [PQl-=

IR o+ y’=k Th
TEIE 2 DOREFA

_0P-0Q
Jorrog <27 B
3.

[IPQIl, 238/h0 & & DEARPQ OE X, 21&Y

—tanf=— (%)r ROT, HEPQOHERE

bS]

X

——+ y —ap+1+bv1

1
AL biz+1

.
ZZT, ch:u, boiT=ypy LB,

X YVp
u+v k ®

SELY wPtoP=k

®, % v 2> THATIE

pu”“‘+pv""~j%:0 .
® @&y U gL

- x. 1
@EfRATBL -+ X

£oT

= kupﬂ =kup+1
uf+ov? k

v p+1 "
y:(;> X P = Pt

< ()

(o

=t

D&Y, EHEPQ OB

xTL«FyT%:k
BEs5h 3,

(EHT)

WEFHEK BRBFEOTRT

AR FEE
(BHMRREREER)

21



